Whitman College

Econ 308

Exam 1

October 1, 2008

Write all of your answers in your blue book.  Show all of your work.  The exam ends at 2:20.

1.   Consider the article “Inflation is Stinging U.S. Workers Harder” by Perry and Reddy in August 22, 2008 WSJ, p. A1.  

(a)  (5pts)  According to the authors, why are European workers keeping up with inflation better than U.S. workers?

(b)  (5pts) Do the authors think it is a good thing that European workers wages are rising?  Explain their reasoning.

2.  (a)  (5pts)  Define nominal Gross Domestic Product.

(b)  (5pts)  Define the Gross Domestic Product deflator.

3. (10pts)  Consider the Cobb-Douglas production function  Y = A KL1-, where Y is real aggregate output, A>0 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and  is a fraction between 0 and 1.  Prove that under perfect competition, the share of national income earned by workers is 1-.  

4.  Suppose that a country's population decreases, with no change in its capital stock.  Assume that the country has a Cobb-Douglas production function and perfectly competitive markets.

(a)  (10pts)  What happens to the marginal product of labor and the wage paid to labor?  

Explain, with reference to a labor supply and labor demand diagram.

(b)  (10pts)  What happens to the marginal product of capital and the rental price of capital?  Explain, with reference to a capital supply and capital demand diagram.

Consider the Cobb-Douglas production function where real aggregate output Y is given by  

Y = A KL1-,  in which A=5 is a parameter measuring the productivity of the available technology, K is the amount of capital employed, L is the amount of labor employed, and =0.4.  Suppose that currently K=200, L=20, and the price level, P, is 10.  The savings rate, s, is 0.35.  The depreciation rate, , is 0.2.  Assume that the population remains constant and that there is no change in the production technology.  Suppose markets are perfectly competitive.  Use this information and the Solow Growth Model to answer Questions 5, 6 and 7.  

5.  (a) (5pts)  What is the current real aggregate output?

(b)  (5pts)  What is the current nominal aggregate output?

(c)  (5pts)  What is the marginal product of labor?

(d)  (5pts)  What are the total earnings of workers?

(e)  (5pts)  What is the wage?

6.  (a)  (2pts)  What is the current real aggregate output per worker (y = Y/L)?  

(b)  (2pts)  What is the current real consumption per worker, c?

(c)  (5pts)  What will y be next period?

(d)  (2pts)  What will c be next period?

7. (a)  (5pts)  What is the steady-state level of capital per worker (k*=K/L)?

(b)  (5pts)  What is the steady-state level of output per worker, y*? 

(c)  (2pts)  What is the steady-state level of consumption per worker, c*?

(d)  (2pts) What is the steady-state level of investment per worker, i*?

